Addaizy7 Eooale Play

E"B MPESB 2024
Police Constable Recruitment Test - 2023 - Reports

Freerrer wataTét weer e

Print

Testdate 01 Sep 2023 v

TestSlot Shift 3 v

Submit

Q.No: 1 What is the original colour of Litmus solution?

2786363
forer faem &1 ga &1 T g 82
Blue
A
e
Pink
B
Tardt
Purple
C
CuEl
Red
D
GIGE

Correct Ans : C

Subject : Domain Technical

Q.No: 2 Which gas is formed when metal hydrogen carbonates react with acids?
2786364

T T3SIoH PBET 3 & Y AfHAT FA W B It 1 74t 82
Ha
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Correct Ans : D

Subject : Domain Technical

Q.No: 3
2786365

What is the pH of the mouth when tooth decay starts?

3l & URYH B W 4g &I pH A a1 gar 82

Lower than 6

6 A FH

Lower than 5.5

5.5 9 &9

Lower than 5

59 &9

Lower than 4.8

4.8.3 %9

Correct Ans : B

Subject : Domain Technical

Q.No: 4
2786366

Washing soda is used in:
1. Removing permanent hardness of water

2. Glass, Soap and paper industries

919 & el BT IUANT Hel gidl 8?2
1. 5d P! RRH FERAT &I g & forg
2. $Id, WG iR FI & I A

Only 1
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Fad 1

Only 2

Had 2

Both 1 and 2

1 3R 2 g=F

Either 1 or 2

grar1ar2

Correct Ans : C

Subject : Domain Technical

Q.No: 5 Which of the following is an incorrect statement?

2786415
fofafad & @ 19 a1 Ted HUF §?
A solution is a homogeneous mixture.
A
faaa v werdta fagor g1
The particles of a solution are smaller than 1 nm (10 metre) in diameter.
B
o fdEa F Fr e # 1 nm (107 #ex) ¥ 8 B &
Because of very small particle size, they do not scatter a beam of light passing through the solution.
So, the path of light is not visible in a solution.
C
9gd DI U PR & BRI, 3 faagT | ToRA ard gH1=r 1 frwor o) faewa =78 2
3a: fae & yorr &1 ant R =8 Tam
The solute particles of a solution can be separated from the mixture by the process of filtration.
D

fredes @1 uftrar gt fawa & fada <ol &1 faeas e f6ar s Iodr 21

Correct Ans : D

Subject : Domain Technical

Q.No: 6  Choose the correct arrangement of the following substances in decreasing order of forces of attraction between the
2786416 particles— milk, wood, hydrogen.
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TY, APS!, TISIoH HUI & s ATHYU 90 H °ed A § FEfoiad yerf ot Te sgawi |

Wood > milk> hydrogen

A
ARG > YU > TGO
Hydrogen > wood > milk
B
TR >APS > qY
Milk >wood > hydrogen
C
QU > TR > FIEGeH
Hydrogen > milk> wood
D

BIgSIo > G > AP
Correct Ans : A

Subject : Domain Technical

Q.No: 7 If we convert 287 K to celsius scale, we will get:
2786417

e g7 287 K ) AR Whel § gead o, o &H Uit B

18°C
A

18°C

187 °C
B

187 °C

14 °C
C

14 °C

24 °C
D

24 °C

Correct Ans : C

Subject : Domain Technical

Q.No: 8 Which of the following statements is incorrect?
2786418
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frafifed & &9 1 HY= Tod 82

The plasma state consists of super energetic and super excited particles.
A

WATSHT AR # Sifa SHoitar 3R sifa Sfora &1 §1d 71

Plasma state is used in a neon sign bulb.
B

TATHT ARAT FT IUART a1 g1 aea § fowam oimar 31

The Sun and the stars glow because of the presence of plasma in them.
C

T 3R R I7H W1 F IURRAITY F FRU TuE B

The plasma is created in stars because of very high pressure.
D

aRI & e &1 FEf srafie 3= g9 & SR 3T 2|

Correct Ans : D

Subject : Domain Technical

Q.No: 9  What is the relation between atmosphere (atm) and Pascal (Pa)? (Where both are the unit of measuring pressure
2786419 gyerted by a gas)

UeHRBIR (atm) 3R YRl (Pa) & o9 JaY o1 22 (T8 a1 &l g a1e A1 &1 75 ©)
latm=1.01=10%Pa

A
latm=101=10Pa
latm=103 = 10°Pa
B
latm =103 = 10 Pa
latm=201=10°Pa
C
latm=201=10°Pa
latm=101x 10°Pa
D

latm=1.01 = 10°Pa

Correct Ans : D

Subject : Domain Technical
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Q.No: 10 In a solution 50 g of sugar is dissolved in 350 g of water. What is the concentration of the solution in terms of
2786420 mass by mass percentage?

TP @ & 350 g faome 5 # 50 g =i+ facw ®1 fawme &t Iigar &1 aRee e

11.1 percent

A

11.1 yfe=a

12.5 percent
B

12.5 ufo=ra

7.01 percent
C

7.01 wfo=ra

9.3 percent
D

9.3 yfa=ra

Correct Ans : B

Subject : Domain Technical

Q.No: 11 "Which of the following is the correct expression of Newton’s second law of motion?
2786487
[where, p = momentum, F = force, t = time]"

"FEfiEd & Q B e & T b ger Faw B 9Et ifteafa 32

[STgl, p = ¥aW, F = §d, t = JH4]"

F o at/ap
A

F o at/ap

F < ap/at
B

F o Ap/at

F # ap/at
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F £ ap/at
F# ap/at

F £ ap/at

Correct Ans : B

Subject : Domain Technical

3'7'\'8‘241828 If a ball is thrown vertically up at a speed of 3 ms-! then find the maximum height the
ball will reach. (g = 10 ms-2).
afg o g B 3 msL I AR F AU T F FW Hdl a1 §, A g H 3 aA S5 T
HIfT] (g = 10 ms2)
0.45 m
A
0.45 m
0.60 m
B
0.60 m
0.75 m
C
0.75 m
1.00 m
D
1.00 m

Correct Ans : A

Subject : Domain Technical

Q.No: 13 In which of the following should a concave mirror be used?
2786489

Fraffad § Q feud srada-guur o1 IuanT fbar S 22

Rear view mirror in cars

PRI A R g e &

B In construction of kaleidoscope
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IgEUeie & famtor &

As safety viewers at dangerous corners
C

FARATS DI W GI&T o= & FU &

In flood lights
D

WIS Arged A
Correct Ans : D

Subject : Domain Technical

Q.No: 14 "For an object, the image/jpg formed by a convex lens is
2786490

1. beyond 2F

2. real and inverted

3. enlarged

Where is the object placed?

"forelt foig & fore Saa o gRT 914 aren wfafers §
1L2FEW

2. TP 3R I

3. Smaffa

g Dol W 82

Between F and the pole

A
F 3R yRe &5 & &
AtF
B
FIR
Between F and 2F
C
F 3R 2F & &9
At 2F
D
2F IR

Correct Ans : C

GET IT ON
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Subject : Domain Technical

Q.No: 15 Which of the following statements is incorrect?

2786491
frofafed & § &1F 1 HuF Tad 82
In a hypermetric eye the near point is at a distance greater than 25 cm.
A
TRWRARS A7 # Freve fig 25 0 A aftre gft W g 21
Presbyopia is an old age disease.
B
VAT U ggrawat t Sar g1
In Presbyopia a human eye cannot see objects in two orthogonal directions simultaneously.
C
VHIrNfUaT § U A4 3G TP 91y & araad fezmae § axgsit &1 A8 3w "t 21
The myopic defect is removed by using diverging (concave) lens.
D

ATHARY (3faad) AT T SUART HXP RIS Y B gr Han wmar 31

Correct Ans : C

Subject : Domain Technical

Q.No: 16 Work done is zero:

2786492

foan T Hf R B

When force and displacement are in the same direction.
A

wa 99 IR freuTe e € e € @)

When force and displacement of the body are in opposite directions.
B

9 IRR & 9 R fawum= fodia fezmsit & g4 7

When force acting on the body is perpendicular to the direction of the displacement of the body.
C

W9 IR W ST 3 11 96 IRR & R0 35t 73z & daaa giar 31

When force makes an angle with displacement.
D

W oo fARITTS & 1Y S0 941 2|

Correct Ans : C

Subject : Domain Technical
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Q.No: 17 Which of the following is not a limitation of geothermal energy?

2786555
frofafed & 9 o f-ardia Sef ot dm 6t 82
If harnessed incorrectly, geothermal energy can produce pollutants.
A
i Tad atd A IuAT fHar wrar ], @ Y-ardig St ugue U HR aad 2|
Improper drilling into the earth can release hazardous minerals and gases.
B
gt ® e feferm wavare @Al ok i ) Bis w@dt 81
Geothermal power plant sites are prone to running out of steam in the long run.
C
Qoo srafy & yardia St w6 @t i & arw & A9 7 M BT W7 g 3
Geothermal Power plants have very high running costs.
D

yaTdig fagyga wa=l @t ufaread anTa sgda $if¥e gt 31

Correct Ans : D

Subject : Domain Technical

Q.No: 18 Which of the following statements is incorrect?

2786556

fafiied & 9 o9 91 Hu= Tod 7

About 60 percent of the incoming solar radiation is absorbed by the upper atmospheres.
A

AT 9T "R IR0 71 T 60 wfwra SHUdt argHEE gRT SraRnfya far wiman 21

Solar power plants cannot produce energy if the sun is not shining.
B

3R Yo 7Y TH T/T @ @ AR Sl YU, Sl BT SIS T8l B Joba g

Establishment of solar power stations can be very expensive.
C

R St RET Y RITGAT 9ga 7 8 bt B

Solar panels need to be regularly maintained and cleaned to continue generating electricity.
D

foreTelt SaTeT WY TEA & forw 9 99e! &) FFrafid U @ 9918 t@H 3R |16 S &1 axgedT gl

Correct Ans : A

Subject : Domain Technical
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Q.No: 19 Large amounts of crops high in sugar or starch content are grown, and then fermented with yeast to produce-

2786557
ERT T WG B &1 98 TAM R Bl B o1t 8 3R U Ud &T fbva fparsmarg aifs &9 I
Ethanol
A
EXRIC]
Methane
B
LIOE
Fertilizers
C
SRS
Petroleum
D
tgiferad

Correct Ans : A

Subject : Domain Technical

Q.No: 20 "Which of the following statements is correct?

2786558
1. A 40W-220 V bulb has a higher resistance than a 1 kW-220 V electric heater.
2. The maximum current that a 100W-220 V lamp can withstand is 0.45 A.

Choose the correct code:"

"Frafafed Ul § 8 S T8 82

1. T 40W-220 V 9§ &1 UfeRIY 1 kW-220 V Saifaed giex F e gt g1
2. T& 100 W-220 V & o H SHfefhad 4RT &1 H1H 0.45 A B
SEEISESE

Only 1

Fad 1

Only 2

*ad 2

Both 1 and 2

3T 18R 2

D Neither 1 nor 2
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TA 1T 2

Correct Ans : C

Subject : Domain Technical

Q.No: 21 Which of the following computer are commonly called big iron?
2786605

frofafad # ¥ 5w Fger & Imad: o omRT & 9 § ST S 22

Supercomputers
A
BRRE e
Mainframe computers
B
ATHH FHR
Workstation Computer
C
THRIA HEER
Personal Computer
D

Ta dueR
Correct Ans : B

Subject : Domain Technical

Q.No: 22 Who among the following sent the first e-mail in 1971?
2786606

fafafad d 9 P9 1971 o ugan s-Ad Hor 41?

Ray Tomlinson

A
X e
Tim Berners-Lee
B
fow Rt -
John Cray
C
GIEkd

D James Tomlinson
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SR e

Correct Ans : A

Subject : Domain Technical

Q.No: 23 In DBMS, 'MERGE' is the SQL statement of

2786607
DBMS #, 'MERGE' HT SQL Tede 7l
DDL
A
DDL
DML
B
DML
DAL
C
DAL
DSL
D
DSL

Correct Ans : B

Subject : Domain Technical

Q.No: 24 Which of the following is a low-level language?

2786608
frofafed & § oF- d-dad dicids g2
COBOL
A
COBOL
Assembly
B
et
FORTRAN
C
FORTRAN
Python
D
RIERE]

Correct Ans : B
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Subject : Domain Technical

Q.No: 25 Which one of the following is a type of Internet?

2786621
fofifed & § $H-91 T ee $1 UHR 82
World Wide Web
A
9% d15S 99
Local Area Network
B
Wb QAT Acas
Wide Area Network
C
a1gs Tiar Head
Campus Area Network
D

Py viear Aead

Correct Ans : A

Subject : Domain Technical

Q.No: 26  Which of the following key is an example for the toggle key?
2786622

frgfefaa & ¥ oF-31 B (key) 1A B (key) & T T IR0 82

Shift Key
A
fRre Ft (Key)
Caps Lock key
B
¥ A@1P I (Key)
Escape Key
C
T BI (Key)
Function Key
D

=M 31 (Key)
Correct Ans : B

Subject : Domain Technical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

Q.No: 27
2786623

Which of the following is/are Not the reason for hard e-mail bounce?

FofifEd § 9 g€ $-Ad S99 &1 SR &7 T8 3/87

Invalid e-mail Address

Fafers §-da g

If the e-mail Address does not exist

g $-09 T3w Ui TEl Bear 21

Recipient email server has completely blocked delivery

TSl $Ha HaR A St 31 i @ve 9 oavs a7 e §

If the mailbox was full

gfe A died Bd g oIrer 2l

Correct Ans : D

Subject : Domain Technical

Q.No: 28
2786632

An SCR is a device having

SCR U U1 IUHRUT & Forad [

Three layers with four junctions

T R & 91y IR GRef ad @

Three layers with two junctions

& TR & 91y 3 Gt St §

Four layers with three junctions

IR ¥R & 1Y 9 Gftat g

Four layers with four junctions

IR R & 91y IR SRt g @

Correct Ans : C

Subject : Domain Technical

GET IT ON

Google Play
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Q.No: 29 Single turn primary of a current transformer has a turn’s ratio 10 : 1. Which one of the following is the secondary
2786633 (rrent if the current measured in the primary is 2 amperes?

T YRT SRR & Uhd T8 W & TS &1 3Ud 10 : 1 gl 3fg wraflre & ardt it oRy 2 vt g, o Fofafed 3 9

HH- fgdas orT 82

1 ampere
A

1 TArR

5 amperes
B

5 TR

10 amperes
C

10 TRRR

20 amperes
D

20 TR

Correct Ans : D

Subject : Domain Technical

Q.No: 30 In order to switch OFF an electric supply line in case of ‘earth’ leakage, the device used is:
2786634

Y- &R0 &1 FRURY B faorelt 351 sigfef ag &Y g 7 & o fovw Iuasvor 1 IuahT fasan s g2

ocCB
A
OCB
MCB
B
MCB
Bimetallic-strip
C
frunfas-ve
ELCB
D
ELCB

Correct Ans : D

Subject : Domain Technical
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Q.No: 31 An ideal transformer has:

2786635
T 3i1esf SRpER 3:
Very high losses
A
954 I I g @
Very low losses
B
9gd fr a1 gt 8
Moderate losses
C
"o I gl @
No losses
D
®1$ iy T8 gl 8

Correct Ans : D

Subject : Domain Technical

Q.No: 32 The ratio of output power to the input power for a transformer is termed as its-

2786649
T TRABIR & oY 3M9eye e IR S A S U B 3qD & T § o ol 8
Efficiency

A
q&raT
Coefficient

B
one
Reliability

C
B Iein
Coupling

D
gHd

Correct Ans : A

Subject : Domain Technical

Q.No: 33 Speed of synchronous motor on increasing load:
2786650
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3d §U HR W Ja@Ieie AieR $I 7Ifd o1 et 82

Becomes infinity

A
3 g1 Wt 3
Remains constant
B
A e B
Increases
C
dedl &
Decreases
D
TH g ?

Correct Ans : B

Subject : Domain Technical

(13-7“]8(263541 If a ransformer has 90 turns in the pimary winding and 10 turns in the secondary winding, whatis the

reflective resistance if the secondarvload resistanceis 250 Q7

ITE U SR & TfAS As 7 50 A5 3R gladas asfEa 7 10 A5 §.37% gadas
TR 9feRTer 250 o &, O Wrade IToRiE &7 £

250 Q
A

250 Q

250
B

250

6,250 Q
C

6,250 Q

D 62,500 Q
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62,500 0

Correct Ans : C

Subject : Domain Technical

Q.No: 35 A phase-locked loop (PLL) is a feedback circuit consisting of a:
2786652

T Tol-fd qU (PLL) Teb Wisss uRkuy i 8, fored g & § a1 wnfere e 2

Phase detector

A
T WY
Low-pass filter
B
fra-we e
VCO
C
VCO
All of the given options
D

feu v 9+t farea

Correct Ans : D

Subject : Domain Technical

Q.No: 36

2786653 lne diagonal clippingin Amplitude Demodulation (using envelope detector) can be avoided if the RC

time constant of the envelope detector satisfies the following condition, (), is the message bandwidth

and . is the camier frequency, both in rad/sec)

1T TaATger (3eateld TEEe H1 3TAR ) A fode S & g7 @1 1 Thahl &, ATG
Hedlelld THaF & RC FAT-Me @ ## @ Fufa & §dse &dl 8, (o §87
Eﬁﬁ'&jﬂ & 3r . digeh BTHﬁH' & arar rad/sec ﬁ'%‘)

1
RC = —

im
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1
RC = —
Wim
1
RC = —
Wm
B
1
BRC = —
Wm
1
BC = —
e
C
1
BC = —
e
1
BRC = —
We
D
1
RC = —
We

Correct Ans : A

Subject : Domain Technical

Q.No: 37 ASK, PSK, FSK, and QAM are the examples of:
2786654

ASK, PSK, FSK, 3R QAM f&de Iarevur g2

Digital communication

A
fSfiea ¥ar
Analogue communication
B
TN R
Ionosphere communication
C
AITHSH JAR
RF communication
D

RF IAR

Correct Ans : A

Subject : Domain Technical
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Q.No: 38 Which of the following is NOT true about a web server?
2786668

fFrafifed & 9 S1H-31 fiPe 38 TR & IR & 99 T 82

A web server is a computer that runs websites.

A
9 IR TP HYEX ¢ &l Igge Jardm gl
Web server is a computer program that distributes web pages as they are requisitioned.
B
9 IR TP SR THTH § S SATaRgHdl U R A9 Usil 71 fyavor &ar g1
The basic objective of the web server is to store, process and deliver web pages to the users
C
A9 I&R P go1 I Tord a@ a9 Usil $I WK, W89 R feehtar s 81
Providing all of the details that will support a purchase decision
D

TR F fAvfg &1 g9dq Fv= are It faamor ueE s

Correct Ans : D

Subject : Domain Technical

Q.No: 39 Which of the following network architectures has no dedicated server?
2786669

fofafea & 3 fog Jegd snfdewR & Fi5 Sfghes IR &1 gid1 872

Client/Server network

A
FISC/HR AcaH
Peer-To-Peer network
B
ThR-g -thR Aead
Client-To-Peer network
C
FATSe-¢ -URR Aead
Client-To-Server network
D

Correct Ans : B

Subject : Domain Technical
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Q.No: 40 Which of the following TCP layers in a data communication network contains high-level protocols?
2786670

32T TOR egs § A § ¥ 59 TCP 3R # S5 TR Uieisid 8id 872

Host-to-Network Layer

A
ERE-g-Head AW
Application Layer
B
TS AR
Transport Layer
C
TiaE AR
Internet Layer
D

gaAe AW
Correct Ans : B

Subject : Domain Technical

Q.No: 41 In the Network Layer, data is transmitted in the form of through the logical network path.
2786671

Jead R T, Ao d Jcdd Uy & AegH J ST Bl ¥ =u ¥ 9fq farar Sirar ]

Frames
A

HHE

Segments
B

ddeH

Packets
C

Tw

Bits
D

frew

Correct Ans : C

Subject : Domain Technical

Q.No: 42 SMPS stands for?
2786672
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SMPS T Tefifd oxar 82

Start mode power supply

A
Start mode power supply
Store mode power supply
B
Store mode power supply
Switched mode power supply
C
Switched mode power supply
Single mode power supply
D

Single mode power supply
Correct Ans : C

Subject : Domain Technical

Q.No: 43 What is the full form for MODEM?
2786673

HI$H (MODEM) &1 quf &7 & 82

Modern determination

A
Modern determination
Module demolition
B
Module demolition
Modulation demodulation
C
Modulation demodulation
Model design
D

Model design
Correct Ans : C

Subject : Domain Technical
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For the given Op-Amp circuit, the value of input resistance (B;)} needed to produce an output voltage of -3

feu AW Op-Amp URUY & AT, -5 V& H3CUC diecs & 3cUleA &1 & [T HETH FAIC

Q.No: 44
2786683
WV is
R,
200 k()
Ri
.l.m -
Vv s 5V
50mv |
gfaier (R) &1 A HT &
R|
kQd
R 200
v ; 5V
56 mV J__
50 O
A
50 O
2kQ

B
2kQ
4 kQ

C

4 kQ
2.08 kQ
D
2.08 kQ

Correct Ans : B

Subject : Domain Technical

Q.No: 45 Push-Pull amplifier circuit is used as
2786684

1S SNV TARABRR IRTY $T ITAN 50 T H fobar o 82
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Audio Amplifier

A
SHifsar TrefteraR
Power Amplifier
B
TfdT TR
RF Amplifier
C
RF TRABTaR
Emitter follower
D

Tter TfiwrR

Correct Ans : B

Subject : Domain Technical

Q.No: 46 Which of the following can be used for square wave generation?
2786685

fofafea & 3 feage Iuan afeR a3 & IUd S & forw foean o gadr g2

Bi stable multi-vibrator

A

fafufos sgafoa

Astable multi-vibrator
B

wafed ggaiua

Mono stable multi-vibrator
C

None of the given options
D

fau e R § @ SIS T8
Correct Ans : B

Subject : Domain Technical

Q.No: 47 The Op-Amp used in Schmitt trigger is basically.
2786686

e forrR o S%mTd g1 are Op-Amp 4d &4 ¥ 1 82
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Comparator with negative feedback

A
HUTHS BISad arel gaf-a
Comparator with positive feedback
B
TS WISad arar ot
A triangular wave Generator
C
Brysmer @ s i
A pulse Generator
D

e wf
Correct Ans : B

Subject : Domain Technical

Q.No: 48 Which among the following is the first general purpose electronic digital computer?
2786688

fufafed § 3 vgar SR yaSH 3adeie fefed dager &F 11 8?2

ENIAC
A

ENIAC

EDSAC
B

EDSAC

UNIVAC
C

UNIVAC

EDVAC
D

EDVAC

Correct Ans : A

Subject : Domain Technical

Q.No: 49  Which of the following statement is true with respect to the Random-Access Memory?
2786689

Ys9-TRT AU & ey # Fafafed § 9 SF-91 53 99 87

A Used specially for the booting process
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g wfran & e ki wu & IuahT & ar s @

Stores data in Gigabytes

B

fmarge # e R FRar §

Non-volatile memory
C

1 - didel g AEN @

Writing data to the memory is faster
D

AR P ST REA A dar g1t @

Correct Ans : D

Subject : Domain Technical

Q.No: 50 UDP is a protocol of which among the following layers of OSI Model?
2786690

UDP, 0SI Hisd & FRufiad oR # ¥ frge tidierd 82

Physical Layer

A
fpforea aR
Session Layer
B
AT AW
Application Layer
C
SR AR
Transport Layer
D

TRIUIE AR
Correct Ans : D

Subject : Domain Technical

Q.No: 51 Access time to RAM is usually measured in
2786704

RAM &1 TRIY &1 THYT IR R B AT S R

A milliseconds
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bps

bps
kbps

kbps

nanoseconds

Fhs
Correct Ans : D

Subject : Domain Technical

Q.No: 52 Which among the following enables a computer to execute programs and manipulate data files larger than main
2786705 memory?

Fafid § ¥ R & UM Teide SR SR T AART & ga-T J 981 S1eT WIgdl &I AU o | B9 T&W ST 92

Forwarding

A

BIST

Bridging
B

fafsi

Switching
C

feafm

Swapping
D

waftT

Correct Ans : D

Subject : Domain Technical

Q.No: 53 Which of the following contains a program called POST?
2786706

fafafad & 3 fead POST AH® WA B 872
BIOS
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BIOS

Register

ez

Cache

=

Kernel

L]

Correct Ans : A

Subject : Domain Technical

Q.No: 54 Which among the following is a way of distributing audio files via the internet?
2786707

fFrafafed & ¥ ®1F 91 $exe & mem 3 Sty Bidl & f[adikd o3 $1 b dieT 67

Downloading

A
SIS
Vlogging
B
AT
Channelizing
C
EERIHT D
Podcasting
D
-

Correct Ans : D

Subject : Domain Technical

Q.No: 55 In MS Word, which function key is used to update the selected fields?

2786710
MS Word & Iddcs Bits B 3USC R & oY fhg Har Bt (key) BT TGN fbam Sfra 872
F7

A
F7
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F8

F9
C

F9

F10
D

F10

Correct Ans : C

Subject : Domain Technical

Q.No: 56 The purpose of the is to help the website keep track of your visits and activity.
2786719

HT 35T daue P 3MUS! fafite 3R ufdefadt R ToR T # Aeg &1 8l

Cookie
A

EEdl

Crawlet
B

Eord

Bookmark
C

FHATS

Insight
D

ERLIETS

Correct Ans : A

Subject : Domain Technical

Q.No: 57 Which of the following audio file will not work directly in PowerPoint, and needs conversion?
2786720

faffaa & ¥ oH-3t o wea At & Uk uige & o9 78 Fa, 3R I TUMRYT (conversion) Pt 3Ta=gHdl gkl 82

.WwWma
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.ra
.wav
C
.wav
.mp3
D
.mp3

Correct Ans : B

Subject : Domain Technical

Q.No: 58 'IMAP' allows the user to access e- mail from the local server. What is the full form of 'IMAP'?
2786721

'IMAP' IUTNTHdid! Aed TR ¥ 3-Bd a% UgeH &t Hfd a1 81 'IMAP' &1 qUf & &1 g2

Initial Messaging Access Protocol

A
Initial Messaging Access Protocol
Internet Message Access Protocol
B
Internet Message Access Protocol
Intranet Mail Access Protocol
C
Intranet Mail Access Protocol
Internal Mail Accessing Protocol
D

Internal Mail Accessing Protocol
Correct Ans : B

Subject : Domain Technical

Q.No: 59 In terms of computer, what is meant by Octet?
2786722

FeR & T H, sifeee (Octet) &1 M 31 g2
Byte

B Bit
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fae

Nibble
C

IECK]

String
D

Correct Ans : A

Subject : Domain Technical

Q.No: 60 Computer video games belong to which of the following software?
2787455

Hogex difea) 1w Fafafed 7 9 fFa Sireaw 3 defta 82

Education software

A
e (eg¥ee ) Wiwedw
Entertainment software
B
P
Database software
C
STy HIwdaR
Personal assistance software
D

R TETaaT (A AR ) Aireaay

Correct Ans : B

Subject : Domain Technical

Q.No: 61 Which of the following software enables transfer of data and programs from one computer system to another?
2787456

fafafed § 9 31 91 itediR a1 3R U &I U6 $ex Red 9 g & SR &3 | W& ST o2

Operating systems

SfTRfeT Reew

Programming language translators

WRITAT YT9T 3rgares (W & giader )

C Communication software


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

IR (FHAHA) ATFeaR

Utility programs

IuAifrar srfwa (gfefed wum )
Correct Ans : C

Subject : Domain Technical

Q.No: 62 Which of the following software enables us to make use of a computer for creating,editing and printing documents?
2787457

fofafad # @ H19 1 AR g8 Sy 9, Juifed & 3R fife v & o Swer &1 IUaNT a1 § e §H1a1 82

Word processing software

A
TS TR WiredaR
Spreadsheet software
B
e Aiweda
Education software
C
Rrem (THRE) AiReaR
Graphics software
D

TIfperT AIGCaWwR
Correct Ans : A

Subject : Domain Technical

Q.No: 63 The superimposition of computer generated perceptual information over the existing physical surroundings is
2787458 (j|led as -

HieeT Wifde oAy )R $FHeR gRT ITF HTURUTHS AFGRT BT AR ST FHgl STl § -

Virtual Reality

A
U At (ager Rafed)
Robotics

B
NI

C Augmented Reality
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wafda arafaear (st s Rafed)

Data Analytics

3ipaT fazayur (et Tferfewy)

Correct Ans : C

Subject : Domain Technical

Q.No: 64 In IT Act,2000, is defined as a system of a secure key pair consisting of a private key for creating a
2787480 digital signature and a public key to verify the digital signature.

St ififraT 2000 &  GR&M Pl T BT DI YuIeht i § o [Selfdes forew)] givd &9 & Ry U urgde
Bl SR (3RS fogd] & IAfd 1 & T T e Foit § 1

Asymmetric crypto system

A
AT g woret
Certification Practice system
B
THTUfOT Ugfa womret
Symmetric crypto system
C
Tufia g womet
Authorization system
D

UTFYBOT YuTTett

Correct Ans : A

Subject : Domain Technical

Q.No: 65 IT Act 2000, provides guidelines to the user on:
2787481

1. processing of sensitive information

2. storage of sensitive information

3. transmission of sensitive information

et SHffEm 2000, SUENTH B fan-FERT yarm Far §:
1. FdgTRie SR & YEwBRU & fog

2. GaeARia THGR & HeRU & for

3. WA SHPRT & TR & forg

A 1 and 2 only
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Fad 1 3T 2

2 and 3 only

Paa 2 3T 3

1 and 3 only

*Had 1 3R 3

1,2and 3

1,233

Correct Ans : D

Subject : Domain Technical

Q.No: 66 IT act 2000, provides legal recognition to:
2787482

1.Electronic records

2. Electronic signatures

Choose the correct code -

Mgt sifafaw 2000 # Fufifad ¥ & f5T B B AT UM BT 872
1. SAaCFe SfftreiE
2. 3ARMS forgh
e Fe BT I BN -

1 only

*Had 1

2 only

*Had 2

Both 1 and 2

1 3R 2

Neither 1 nor 2

Jar1RAE 2

Correct Ans : C

Subject : Domain Technical
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Q.No: 67 As per IT Act,2000, who has the power to make rules in respect of Electronic Signatures?
2787483

TS R, 2000 F IR, AT D Ried & Jau F fom 51 @t AfFd feud o9 82

Central government

A
T PR
State government
B
oY IXPIR
Municipality
C
TR utferet
C-DAC
D
H-s%

Correct Ans : A

Subject : Domain Technical

Q.No: 68 As per IT act 2000, an electronic record shall be attributed to the originator-
2787484
1. if it was not sent by the originator;

2. by a person who had the authority to act on behalf of the originator in respect of that electronic record

st SHfAIFTH 2000 & AR, fH Sadcie feRg &1 fIGR Uade &I U g -
1. I 98 Yadd gRT g! el 7T U1
2. fordlt U9 e gRT o 39 Saiaei=dh SHTeRE &1 S16d Yadd Bi SR U B I BT WIHR T

1 only
A

Fad 1

2 only
B

Fad 2

Both 1 and 2
C

1 3R 2 Y

D Neither 1 nor 2
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TR 1T 2

Correct Ans : B

Subject : Domain Technical

Q.No: 69 As per IT act 2000, who appoints the Controller of Certifying Authorities?
2787485

TS RIFTTH 2000 F IR, YAV WA & = @t fgfad o1 P g2

Central government

A
T PR
State government
B
oY IXPIR
Ministry of Defence
C
& HATY
Superintendent of Police
D

gier srefters

Correct Ans : A

Subject : Domain Technical

Q.No: 70 How operating system makes input output process effective?
2787509

SHTORfET Rew ¥ Ye 3M3eye Ufhan & guTdt §H1aT 82

It can easily replace input devices and makes work time effective

A
g AT |V 3AYC IUBIVN P W8 & Fhdl 8 3R S THT H GUTH! ST @
Operating system can work as both input and output device and make process cost effective
B
STRFET R 39Ye 3R 313y IUHTUN Gl & T & W H Pl 8 3R Ufhar &) anTd yuTd 991 et 8
Process is done in nanoseconds as the operating system can also do the work of CPU
C

wfpar ARG s & FI A § |ife sTaRfET Ren Wdiig &1 &1 it F dwar @

D It allows interaction with input-output devices using commands
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g FHIS BT SYUNT HI%b FAYC-3AT3CYC IUBIVN & 1Y TRER fivar &t srgafa Tar @
Correct Ans : D

Subject : Domain Technical

Q.No: 71 Which of the following functions is done by the operating system?
2787510

1. Data management

2. memory management

3. process management

fofifed & 9 o W o sifRfe Rivew gr1 fovan s g2
1. ST Y&y

2. fd ydeH

3. Tfshan Usiy

1 and 2 only

Fad 1 3R 2
2 and 3 only

Fad 2 3R 3

1 and 3 only

Pad 1 3R 3

1,2and 3

1,233

Correct Ans : D

Subject : Domain Technical

Q.No: 72 Which of the following are the device management tasks that are handled by the operating system?
2787511
1.open, close and write the device driver

2.communicate, control and monitor the device driver

frafed & § I & Judru yded S § IS siorfen Ren gR1 i far s g2
1. f&arsy SRR &1 Wier, §g HAT 3R fora
2. 339 SRR &1 TuR, gz iR ARE S

A 1 only
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Fad 1
2 only
B
Fad 2
Both 1 and 2
(o
1 3R 2 g
Neither 1 nor 2
D

Jar13RAE 2

Correct Ans : C

Subject : Domain Technical

Q.No: 73 According to the Personal Data Protection Bill 2019, who out of the following can be a “data fiduciary”?
2787512

1. person

2. the State

3. a company

Choose the correct code -

e 3T MeRF e 2019 & IR, Fufafed # 9 & "Se1 fregRad g &t 82
1. =fdd

2. T

3. T bUHT

wel e g -

Only 1 and 2

Fad 1 3R 2

Only 2 and 3

Pad 2 3T 3
Only 1 and 3

Pad 13 3
1,2and 3

1,233
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Correct Ans : D

Subject : Domain Technical

Q.No: 74 What is the name of each device that is a part of a network and that can receive, create, store or send data to
2787513 (ifferent network routes?

T® fSagT &1 91 1 § S Seds BT T 38T € iR S faft Aead Amf () W ST U R Tobdll 8, I bl §, TR PR
Tl & a1 Wl avall 82

Chunk

Mode

Node

drs

Packet

TP

Correct Ans : C

Subject : Domain Technical

Q.No: 75 What does the ARPANET stand for?
2787514

T.3R.F.0.t1.5.¢. (ARPANET) &1 qui-&1 a1 82

Advanced Research Projects Agency Network

A

Tsaivs RNad ieey woiddt Aead

Augmented Research Projects Agency Network
B

Academic Research Projects Association Network
C

Irsire fad Moaes THRERE Aead

Academic Rebuilding Parameter Agency Network
D

Jrrsfe RfafedT ferfier Toidt Aeas
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Correct Ans : A

Subject : Domain Technical

Q.No: 76 A stateful firewall maintains a which is a list of active connections.
2787537
% Repd HRRGId Th 1 € S Wby B B T A R
Connection table
A
FARME qd
Routing table
B
SfET 5w
Server table
C
R aa
State table
D
we ead

Correct Ans : B

Subject : Domain Technical

Q.No: 77 The kind of firewall is connected between the device and the network connecting to internet is known as:
2787538

&gy 3R gexe A Bae N A1 Acad S S Y TRE B BIERATA JSl Bl €, 34 Ped 8

Network Firewall

A
Fead wroRara
Microsoft Firewall
B
ISP BrRard
Hardware Firewall
(o
FEIW WraRaTa
Software Firewall
D

AT dqR BRRAA
Correct Ans : C

Subject : Domain Technical
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Q.No: 78 is used to transfer binary and text files over the Internet.
2787539

Bl e W TZRI 3R TR BTl Bl VMR B P o ITanT far o g1

Internet Control Protocol

A
$eee g Uieidla
Transmission control file
B
ZrRfTR g P
File Transfer Protocol
C
BISd TRIWR Wietdid
Local file
D
dIPd wIgd

Correct Ans : C

Subject : Domain Technical

Q.No: 79 The full form of FTP is:

2787540

TRt &1 guf =9 §:

First Transfer Protocol
A

B CIABY Meldbid

Firewall transfer Protocol
B

WRRAIT SWR Weipia

Fast Transfer Protocol
C

WRE TRIWR Wietsid

File Transfer Protocol
D

BISd TRIWR Wietdrd
Correct Ans : D

Subject : Domain Technical
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Q.No: 80 What is the name of the following safety sign?
2788444

g TRem Gobd BT A 1 32

Warning sign

A
Jara-t dbd
Mandatory sign
B
ATTS Hbd
Prohibition sign
C
e d%a
Information sign
D

GEATHS ddbd
Correct Ans : D

Subject : Domain Technical

Q.No: 81 What is the name of the following cautionary sign?
2788445

fRofafaa A Tba &1 =1 9m 82
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School Ahead

A
SR Vg @
Cattle
B
Rbil
Unguarded
C
3rféra
Pedestrian crossing
D

Yed TR Uy

Correct Ans : D

Subject : Domain Technical

Q.No: 82 What is the name of the following joint?

2788458
Scarfed joint
A
IhS IS
Plane joint
B
@ SIS
Saddle joint
C
dsa wis

D Married joint
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s dits

Correct Ans : D

Subject : Domain Technical

Q.No: 83 What is the advantage of stranded conductor over solid conductor?
2788459

3N Ia® P ga § B U ATed BT R A1 82

More flexible

A
Sifere aiten
Less voltage drop
B
9 qed
Cost is high
C
I HIAT
Less insulation resistance
D

$H PATAD UioRIY
Correct Ans : A

Subject : Domain Technical

Q.No: 84 What is the unit for quantity of electricity?

2788460
fSeTcht &t HHT BT 3PS T 62
Ampere/minute
A
TR/ fiee
Coulomb
B
T
Volt /second
C

diee /Ao

D Ampere/second


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

TfimR /dds
Correct Ans : B

Subject : Domain Technical

Q.No: 85 What is the formula for quantity of electricity (Q)?
2788473

faoTelt @t BT (Q) &1 g T 82

Voltage x Current

A
dlecsl x €RT
Current * Resistance
B
RT % T
Resistance x Voltage
C
giey « e
Current ¥ Time
D

HqHT = JHAT

Correct Ans : D

Subject : Domain Technical

Q.No: 86 Which of the following is the unit of conductance?

2788474
fFrafafed & 9 o1H-@ Iedl 1 391 67
Ohm-cm
A
3ie- B,
Mho
B
=
Ohm
C
3fter

D Ohm-m
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3gr-ez
Correct Ans : B

Subject : Domain Technical

Q.No: 87 Which of the following type of meter is used to test the polarity of battery?
2788475

I8 BI yaar BT T HA F forg FEfiad § I g ueR & Hiex &1 IuanT fasar S 82

Moving coil voltmeter

A
T HSo dieeHiey
Moving iron voltmeter
B
Iq dig Aeediey
Moving iron ammeter
C
Tq 9§ 3Rfex
Dynamo meter type wattmeter
D

BIEAHHIER YHR &1 aieHleR

Correct Ans : A

Subject : Domain Technical

Q.No: 88 Which of the following factor affects the polarity of the electromagnet?
2788484

fufafad § @ $19-1 $RS f9ggd g Bt YaadT B JHIad ST 82

Direction of current

A

YT 1 fa=m

Temperature
B

CLEGIE]

Strength of the magnetic field
C

TEOH &7 B A

D Length of the coil

GET IT ON

Google Play
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Pt I TETS
Correct Ans : A

Subject : Domain Technical

Q.No: 89 What is the unit of Magneto Motive Force (MMF)?

2788485
FEH IEH I ((MMF)) BT FT IHTS 82
Ampere - m
A
TR - H.
Ampere - cm
B
TafieR - 9.3
Ampere /watt
C
TAfiaR /4T
Ampere - turns
D

TafiR- o=
Correct Ans : D

Subject : Domain Technical

Q.No: 90 What is the total inductance if 3 inductors (L1, L2 and L3) are connected in series?
2788486

I 3 RS (L1, L2 3R L3) 4&ar & IS §U & o $d IRbed &1 g2
LT=L1+12+1L3

LT=L1+L2+L3

1 1 1
LT_E+L_2+L_3

1 1 1
LT_E+L_2+L_3
1

- Ly+La+Lg

LT

1

IT=— 2t
Ly+La+Lg
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LT=11x1l2xL3

LT=L1xL2xL3

Correct Ans : A

Subject : Domain Technical

Q.No: 91 Which of following material is the paramagnetic substance?

2788487

frofafed & § oF-91 e g uerf g2

Lithium
A

ferferaw

Copper
B

GIE])

Bismuth
C

fowy

Graphite
D

IwIge

Correct Ans : B

Subject : Domain Technical

Q.No: 92 What is the maximum value of voltage for 240 volt RMS?
2788496

240 diee 3RTATY & 1T e b1 b | A1 82

220V
A
220V
425V
B
425V
339.5V
C
339.5V

D 377.8V
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377.8V
Correct Ans : C

Subject : Domain Technical

Q.No: 93 What is the phase displacement in a single phase AC circuit?
2788497

Thd By T, "fibe & wRur fawim= <1 g2

110 degree
A

110 f$3

125 degree
B

125 f$3

90 degree
C

90 f&h

250 degree
D

250 f&h

Correct Ans : C

Subject : Domain Technical

Q.No: 94 What is the power factor in a 3 phase power measurement of two wattmeters showing equal readings?
2788498

A AT o™ ard Gl aredier F 3 TR UreaR A H TR e T 82

4
A
4
1
B
1
0.5
C
0.5
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Correct Ans : B

Subject : Domain Technical

Q.No: 95 Electrical conductivity of gold is how many per cent?

2788511

A 1 faqgd drdedl fbaa ufderd gidt 82

27%
A

27%

70%
B

70%

61%
C

61%

100%
D

100%

Correct Ans : B

Subject : Domain Technical

Q.No: 96 What is stationary electric charges?

2788512
&R fagga smaw w1 82
Kinetic Energy
A
Tferst St
Chemical charges
B
IS A
Physical change
C
ifa® afvad=
Static charges
D

Rifas smaw

Correct Ans : D
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Subject : Domain Technical

Q.No: 97 Which of the following is the unit of electric charge?

2788513
fFraffed # @ o1H-3 foggd smaw &1 3378 82
Watt
A
qic
Hertz
B
el
Coulomb
C
S
Joule
D
LS

Correct Ans : C

Subject : Domain Technical

Q.No: 98 How the stationary electric charges are called?

2788526
fRR faggd omv fF #gd 82
Chemical charges
A
HEIRIECCIEE
Static charges
B
whe aria
Kinetic charges
C
HIgAfcd Ao
Chemical reactions
D

IR yfafparg

Correct Ans : B

Subject : Domain Technical
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Q.No: 99 Which of the following electrolyte is used in lead-acid battery?
2788527

frafifad & & fog sodciaRe o1 ST ds-TRrs Seit # fvar Sirar 872

Zinc chloride

A
i wIRTgS
Acetic acid
B
wHifes et
Potassium hydroxide
C
RICREERIEEICHIES]
Sulphuric acid
D

TERRE Thrs

Correct Ans : D

Subject : Domain Technical

Q.No: 100 Which of the following are the sub protocols of E-Cash system?

2790631
3-5Y ew & I UIIdTd (sub protocols) 9 & ¥ HH-11 8?2
Withdrawal
A
it
Payment
B
Y
Deposit
C
STHT
D Withdrawal, Payment and Deposit

Frerlt, Yymae ik s
Correct Ans : D

Subject : Domain Technical
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